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Answer all the questions in the spaces provided.
1. The production possibility diagrams below show a country that produces only cars and computers.

(a) Adapt the diagram below to show the effects of a natural disaster in the country which
destroyed buildings and infrastructure. [1]
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(b) Adapt the diagram below to show the effects of a rise in the productivity of car production.
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2. In the summer of 2006 many growers of vegetables in the UK were badly hit by low rainfall and
intensive irrigation was needed to water the crops. Increased water and electricity costs pushed up
the price of vegetables.

Adapt the diagram below to show how vegetable prices rose. [2]
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3. Manchester United football club recently announced that the average price of its season tickets is
to go up by 14%. The capacity of its stadium is fixed at 75,000 and they still have a waiting list of
15,000 supporters who wish to become season ticket holders despite the price rise.

(a) Using economic analysis explain what would happen to Manchester United’s revenue
following the increase in ticket prices. [3]

(b) Define price elasticity of supply and comment on the short-run and long-run price elasticity
of supply of seating capacity at Manchester United’s stadium. [5]
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4. (a) Define cross elasticity of demand. [1]

(b) Using the diagram below and an example explain the cross elasticity relationship between
good X and good Y. [4]

Price of
good X

Demand for good Y
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The UK National Minimum Wage was increased again in October 2006.

The minimum wage is a legal right which covers almost all the workers above compulsory school
leaving age. There are different minimum wage rates for different groups of workers. These are
shown as follows:

Workers aged 22 and over £5.35 per hour
Training rate for 18-21 year olds £4.45 per hour
Youth rate for 16-17 year olds £3.30 per hour

(a)  Why are there different levels of minimum wage for different age groups in the UK? [3]

(b) With the aid of a diagram, discuss the view that the national minimum wage will raise
unemployment in the UK. [6]
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(a) With the aid of the data and using economic analysis explain why road congestion has
increased in recent years.
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7
(b) Evaluate two policies that could be introduced to reduce road congestion. [6]
(1) e
(1) oo

Adapt the aggregate demand and aggregate supply diagram below to evaluate how a cut in income

tax rates might affect the economy. [6]
A
AS
Price
level
AD
Real GDP

Turn over.

Examiner
only
Arholwr
yn unig



8.

(371-01)

Using the data below, evaluate the effects on UK consumers and producers of the changes in the

exchange rate of the pound sterling against the dollar.

s in dollars

[6]
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